¥ Breithld Sophie o bhi onn
Chuaigh Daidi agus Orla go dti an vionod siepodbireadhta chun
bronntanets a cheennach di
D'fhan Memei agus Sophie 3a bhoile
Mi raibh o fhios og Sophie cod o bhi or sl
Bhi Daidi agus Grla oq dul isteach is amach sno siopai
Tar éis tamaill chongic Daidi gina deos. Cheonnaigh sé &

Ansin chuaigh siad Bteach so siopa bréagdn
Cheannaigh Crla bloicin tégéls agus méria enn

MNuagir o chugigh siad abhaile, thug
sied na bronntonaks do Sophie. '
Bl sceitimind dthals wirghi.
Lé dlsinm a bhi ann.
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Ba mhaith liom grdpa cecil a thoso!
Té giotdr agamsa.
An bifuil drumal né méarehlér ag aon duine?
An féidir leat canadhg!‘)
Mé& té suim agat; cuir glaech orm!

Is bred liom gach saghas ceoill
Is maith liom pepeheel agus cesl traidisidata, achis é an
rac-cheel is fearr liom!
Seinnim an giotdr aqus méarchlér.
Té gardiste mér agam aqus td cead agam & a dsdid.
M 14 suim agat gripa ceoil a thesd, cvir glacch orm!

Ainm: Marty
F&n: 6759
CEISTEANNA ki
1 Cad & ainm don bhwochoill o chroch wos on fogra?
{Whot s the nome of the boy who hurg up the notice?)
2 Céord bo mhaith Leis o thos? (Wher would be like 1o stan?)
3 Cim sore cawil i maith le Morty? (Whar soer of music does Marry Wkel)
4 An seinseans & oon ulrlls chesil? (Does he play any musical imstrument?] GApe . Sk puie
5 An bhiud cend sige an gardiste a dadid? il § i
(Tows e howe permission to uwse the parogeT! [T reen—
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Chapter 32: Capacity

We use Uires (1 and millilitves {ml to meossre the copacity ol costalners. Cﬂpl}ﬂt’ mpan the
amount 0 contalner con hobd.

1. Circle what you think is the brst estimate of the copocity of each of these containers
Remember 1 000m = 1] Remember: 1mi = DHIIH )

ﬁppm-lmuu capacity af:

(o) A tablespoon | Smi 15l Fel
(b) A lawge soft drmk biotte 1001 2 -l
(] A garden bucket | 10 1] 1 O
() A botthe of fobric conditionar Thewl 250eml J% |
(&) An orange jice comos 1 V0wl ]
{1 The furl tonk of @ mid-ronge car a ol 240
[ql An athic weter tonk 100N 30001 SO

2. A boetle of wnegor holds Z50ml How much vwneqar will Sve bottles hald?

fa ral o | and [l

bl
3. A garage showroom hos free new cors on c.l:-l:,
20 licres of fuel are poured #n squol quantities into the feed towks of
these cors. Heww much fuel is poaned inta eoch el tani? I

Fawt salivary glands produce about 15 litres of Muid in your
5 Foct yg pr Y
Math: ot every dog Abbut hew masy doys weuld L Loke gou '

1o preslere 30 Lives af Red?

Ehﬂlw ial How many of 1the smali boities are needed to hold the same amount oy
three of the lorge: botties?
(b1 A lerge bowle of peant coses €230 A small botde conts €147
How much skogether loe 3 lorge and 2 smoll bettles of paim? €
{c} How much akogriher for 2 lorge and 3 small botile of paimt? €

WINLIE, SR, WEANOAE W Gl Sk ot Ekios

frangs idewivy
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Litres and millilitres

| Remember: 11m| = 55| = 0-0011

568l = 28| - 468 Tmi = ot = 007 3l = gl = 000 |

1. Whrite these millilitres as Litres in fraction and im decimol ferm.

| 7mi= Lot = 000 {al Smil = . b 1Eml = -
2wl = = {d) Theml = w e} 1hbml = =
1 A3l = - {g] q02mi = - (&) Ml = -

2, Mow wrne theis litre meaturet ai sillilitres, (Firit weite them ox Frootosd of o bure,)

00091 = g1 = 9l ta) 0003 = - (b3 00511 = -
DO0sL = = (d) 0367 = = (e} 0031 = .3,,}':
i1 06801 = = {q) Q1041 = = (h] 04 = =

Remember: The melric tystem S quile

easij when we ase decimal places. =
6, 14%mi == &-1591 5, 035mk =+ 5004 700 4ml === T[N
22351 == 2.235m| & 095, == B,095m| 4008 =+ & 00Bm)

1 Ehn‘ngr theie Litre measures to millidines,

347N = 3472l 1} 41590 = i (Bl 5/5l= mil
b-F58 = ml d¥ 25703 = mi el 16403 = m
N 737l = | gl 9-200 = il Nl 3N = il

& Mew write theis millilitres a3 litres

48051 = 4809 | 1) 3,567 mi = (0) 4247 mi =
cl Badlml = il £ D44ml = iel H070m =
1 319mi = 1 q} S3ml = (Rl 2 M5 ml =

Maths Fact 5100 lires of water can be stored by o largs Saguare Cactus
For tigw many weels would the woter of this Saguare Coctis
st o @5 litres wpere droined GFF sach dnl_;i'

m
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Monday

i
. 5% of &40 =

. Fird the orec
of 1he shope

Firg v [ imnater of the shape

5. Which of these is 0 square rumber:

36,35 7

Colculdate Lhe
miising angle.

Turn this shagpe
184 and draw

. Write EI% a5 8f Frgraper fraction.
. 4354+ 3 m 4

. Dirow the lines of symmetry
on the thombus.

. 234 2 10 =

. 23003 4 WEIS -
64309 - 2310g=
2150km x5 =

. Which iy seancs to 50,000
71,200 or 53 8007

. A gar con trowel 25km on ane ltre
of diesel Whal 13 the cast af diesel for
& 250km jourmey at €145 per lwre?

L I o letto prl.nn! E15,000 was shored
lqll.ﬂhj.lll'_'lg tem prople, how much
did gach get?

. If o family ete i-d & whephend's pig

|u|||'!|l;l||_.'| hum-dimﬁdqhqm
im @ week?

Tuesday

1. Inoremse €640 by 30%.

2. Pat thesa in erder of size, storting
with the smaliest: 00, 1 hesg

3. Wrke D4DGH a5 a fraction
4. 60958

5 34x20=

b ogub=_

et -2k -

8. A poralislagrom
YET A
aof sgrmetry,

o & =

10. &1,735 - 8,000 =

M. 63-78+4=000

12. A sphere hos | Fecalsl

13. Double %3 10
T4

Boy A =130hg | Boy®=35kg

Buog C = &5ky Boy D = iy

1. Il the avérage ol thee fousr begs
is 4lkg, what is ther toral wright?
17. What i the weight of Boy D?

what would the overage weight
al the four hoys be then?
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Thursday

1 'u'.'-'hs\nnpe . 1 ;5 & ag,

There ere & red morbies, & green morbles,
2 bluwe marbles and 3 marbde in o bog

2. What ore the chances of picking
markied in

. What ore the chances of picking

3. Wrice the'numbser negative a red e blus marble? i
N What are the chances of piking
&, Mome the triongle i ol bl n
Coemplece the sequance
-

gt B4 77,70, 63,

6. 367 + 10= e+ =48 soe=

T W:lit-f% = @ mised number em Imm — Tdmin =

r 2

B t"j =y ," = . Decrease €970 by S0%.

q__i T A .5:-{5[.?.: m
10, 'What i tha value of & in 5627 J hirs ming

SE— 2 M
11, Weie 3359 a5 a Trogisen x &

12 - Write ihe time 20 mimstes lotar S—
i e i srmw"':" . Put im order of sire, starting with the

wmallest <5, §, 05

13. & 15 a compovite mumber?

. 1350 x 3=
14, What i the aren of this shope? V——
# W Weite 0076 ox o froction
»
o ‘,1?5 I!I =
b e - Mrx10=___
15. 'What is the pevimetar of ihve square? The Kelly family ore going on holideys obroad
ond have o hoggage offowones of 40kg
16. How maony bogs of sugar a" i, W they hove two bags padked weighing
welghing 500g can be filled fram |2 5 15 6hg and 12kg 48y, how much mare
& bax thot holds 35kg? are thay ollowed o bring?
17. A jug helds 1345 Lsres, 17, I tharg decided te bring this remaining
What & the tatal copaciy ameunt in twe bags of equal weight, H

of five pugs? hew moth would each bag wesgh?

87 for test.

18, The family ore kringing four bags

18, X i 015 by iy cnml ey ol If theg e dividedd Eha weight evmily

1
af it in onether shop, what percentage of

3 - betwren the four bags, how much

ey ooy hod | bkt would hiove been in each bag?







